Chapter 13: The Great Powers in Conflict: A Complexity of Wars – Lesson 2

Opening the Lesson:

1. The 16th Century was unprecedented in its outbreak of revolts, massacres, civil wars, and international wars. 

Developing the Lesson:

I. The Italian Wars of Charles VIII and Louis XII (French kings) 1483-1515

A. The French Invade the Italian Peninsula

1. They disputed the right of the Spanish to hold the throne of Naples; thus they also had a family claim

2. The riches of Italy

3. Italy looked easy to defeat with all its divisions

B. The French are Defeated

1. It was the first time natioins and city-states combined to defeat another nation in an effort to preserve a balance of power

2. Define balance of power

II. Francis I versus Charles V 1515-1559

A. Francis I of France r. 1515-1547

B. Charles V of Spain r. 1516-1556

1. Grandson of Ferdinand and Isabella and grandson of the HRE

2. He was a Hapsburg; his mother had been the daughter of Ferdinand and Isabella

3. He was 16 when he became king of Spain in 1516 and was then elected HRE in 1519

4. He also controlled Naples, the Netherlands, Austria, Lux., Sardinia, and Montenegro

5. He was ill-prerpared to be king or HRE; his mouth always hung open making him look stupid

6. His aim was to preserve his empire for his heirs and believed himself to be a leader in a crusade to defend the Catholic faith against Islam and Luther

7. He believed his greatest threat came from France

C. Outcome of the Wars Between Francis and Charles

1. France failed to gain control of any Italian territory

2. Spain failed to reduce the power of France

3. France abandoned claims to Italy leaving Spain to be dominant there for the next 150 years

D. What Did These Wars Prove?

1. Nations will seek allies wherever they can find them; france allied itself with Protestant German states and the Ottoman Empire

2. Nations will reverse their allegiances if it benefits them: England supported France and then switched to Spain
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III. The Wars of Philip II and the Dutch Revolt 1556-1598

A. Philip II Succeeds Charles V

1. Charles V retired to a monastery in 1556 and divided the Hapsburg territories into two branches

a. the HRE was left to his brother Ferdinand

b. all other territories were left to his son, Philip

2. Philip II 1556-1598

a. had been raised a Spaniard and was a devout, almost fanatical Catholic

b. was instilled with a deep sense of responsibility by his father; a king must see to everything himself; should not permit nobility to concern themselves with affairs of state

c. grave and sober

B. Philip’s Marriages

1. Married Portuguese princess in 1543 who died in childbirth in 1545; the child, Don Carlos, died in 1568

2. Married Mary Tudor who was his first cousin once removed

a. Mary Tudor was 11 years older than Philip

b. he visited her only twice and left her to die at 42 of problems complicated by embarassment and a broken heart

3. Third marriage was to Elizabeth of Valois in 1559 who died in 1568

4. Fourth marriage was to Anne of Austria in 1570

a. Anne was his niece and she died in 1580 after five children

b. only one child, Philip III, survived

C. Philip’s Mission and Goal

1. To use the wealth and power of Spain to restore the R.C. faith as the dominant faith in Europe

2. To achieve goal he would throw the entire might of Spain against the Netherlands, England and the Ottoman Empire – which will be examined one at a time

3. He gave no thought to the economic and material well-being of Spain in order to achieve his goal

4. His actions resulted in the deterioration of Spain even though in was considered Spain’s Golden Age

D. The Dutch Revolt

1. The Spanish Netherlands included what is today the Netherlands and Belgium

a. the northern half was German and Calvinist and is now the Netherlands

b. the southern half was French and Catholic and is now Belgium

c. there was no Dutch or Belgian nationality at that time

d. the feeling of separate identities would develop at this time
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2. What caused the revolt?

a. Philip taxed the Netherlands for the benefit of Spain and was not as sympathetic to the Netherlands as Charles had been 

1) Philip didn’t spend time in the Netherlands and did not take the nobility into his confidence

2) Philip said he need not pay attention to a “cupful of beggars”

b. Philip beleived strongly in a centralized authority and was determined to wipe out Calvinism

1) half the people were Calvinists and Philip used the Inquistion

2) outraged Protestants defaced R.C. churches in 1566

3) Philip responded by sending troops which eventually resulted in the Spanish Fury in 1576

4) Philip’s oppression of the Netherlands increased opposition which became more anti-Spanish than anti-Catholic

3. William of Orange emerged as the dutch leader

4. In 1578 Philip agreed to compromise and offered self-rule under a Spanish monarchy. Why?

a. cost of the war

b. the Dutch were determined to fight to the last

5. What was the result of the compromise?

a. the southern provinces, today Belgium, remained with Spain because they were largely Catholic

b. for the northern provinces it was too late

6. What was the final outcome for what is today the Netherlands?

a. they declared their independence in 1581

b. this enraged Philip and he William of Orange assassinated in 1584

c. fighting continued until a truce was achieved in 1609 and the Netherlands was formally partitioned 

d. the Netherlands became very tolerant because of a large Catholic minority

e. Antwerp and Ghent, in the southern provinces, never recovered as the Dutch controlled the river and Amsterdam emerged as the commercial and financial center of northern Europe

f. led the Dutch to go to the sea

g. the Netherlands gained full independence in 1648

h. when Philip invaded Portugal in 1580, the Dutch seized the East Indies

E. Philip’s Struggles with England

1. Philip considered this to be his most significant crusading effort

2. What were Philip’s first moves to subdue England?

a. married Mary I in 1554 which increased her unpopularity in England and produced no heir
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b. attempted to marry Elizabeth when Mary died; at the time he could not go against England because France backed Mary Stuart who the English opposed and to go against England would have meant also opposing France

3. Spain’s goals led Elizabeth to support Spain’s opponents

a. encouraged the Sea Dogs to plunder Spain’s treasure ships

b. openly aided the Dutch in 1585 when Spain began a buildup of troops in Antwerp, the best port from which to launch an invasion of England

c. executed Mary Stuart in 1587

4. The Armada

a. 130 ships, 30,000 men, 2,400 cannon

b. was to sail to the Netherlands and escort Spanish army across the Channel

c. met 200 ships under Sir Francis Drake

d. English ships were lighter, smaller and faster but they sank only two Spanish ships and drove five others aground

e. the Spanish found no refuge in Calais as English fire ships drove them out

f. the “Protestant Wind” arose and drove the Armada northward

g. Spain lost ½ her ships; 1,500 died in battle but 18,500 died on the return to Spain

F. Confronting the Ottoman Turks

1. Who ruled the Ottoman Empire and why was he a threat?

a. Suleiman the Magnificent

b. his troops threatened central Europe and his fleets dominated the Mediterranean

2. What action did Spain take?

a. Spain combined with Venice and Genoa but was unable to get other powers to oppose the Ottomans

b. Battle of Lepanto in 1571 near the mouth of the Gulf of Corinth

3. What was the result of the battle?

a. only 40 of the 286 Ottoman ships escaped; 40,000 killed and 150,000 slaves released; Spain had 200 ships

b. one of Philip’s few clear cut successes

c. ended the Ottoman threat to Christian Europe

Concluding the Lesson:

1. What did all these wars mean to Spain’s power and greatness?

